., Kevin's Puzzle of the Week %
Ivi, True/False A

E veryboa’y lies sometimes. Each of these folks does it half the tme.

The cnswer is Five letters long.

The onswer is six letlers [ong.

Ehe answer contains the leffer L,
Th .

e answer confains the letter R

The answer has two “tall” letters. (bdfhklt).
The answer has two “fall” letters (g joay).

|j||e middie letter of the answer is |
T

he middie letter of the answer is T

T he WISWEY USES f/vc lettey VY as a consonant. \

The answey uses the dettey ¥ as a vowed.

he first letter of the answer iz itz last alphabetically.
The last letter of the answer iz its first alphabetically.
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